
 

 

Answer on Question #61963 – Math – Calculus 

Question 

1 Integrate 

∫(x3+3x2+2x+4) 

x44+x3+x2+4x+c 

x42−x3+x2+4x+c 

3x44+2x3+x+c 

6x4−3x2+c 

Solution 

∫(𝑥3 + 3𝑥2 + 2𝑥 + 4)𝑑𝑥 =
𝑥4

4
+

3𝑥3

3
+

2𝑥2

2
+ 4𝑥 + 𝐶 =

𝑥4

4
+ 𝑥3 + 𝑥2 + 4𝑥 + 𝑐 

Answer: 
𝑥4

4
+ 𝑥3 + 𝑥2 + 4𝑥 + 𝑐. 

Question 

2 Evaluate 

∫(3x−2)6dx 

(3x+2)72+c 

(3x+2)721+c 

(3x−2)721+c 

3(3x−2)72+c 

Solution 

∫(3𝑥 − 2)6𝑑𝑥 =
1

3
∫(3𝑥 − 2)6𝑑(3𝑥 − 2) =

1

3

(3𝑥 − 2)7

7
+ 𝐶 =

(3𝑥 − 2)7

21
+ 𝑐. 

Answer: 
(3𝑥−2)7

21
+ 𝑐 

 

 



 

 

Question 

3 Evaluate 

∫cos(6x+4)dx 

sin(6x+4)6+c 

cos(6x+4)6+c 

tan(6x+4)6+c 

sec(6x+4)6+c 

Solution 

∫ 𝑐𝑜𝑠(6𝑥 + 4)𝑑𝑥 =
1

6
∫ 𝑐𝑜𝑠(6𝑥 + 4)𝑑(6𝑥 + 4) =

1

6
𝑠𝑖𝑛(6𝑥 + 4) + 𝑐 

Answer: 
1

6
𝑠𝑖𝑛(6𝑥 + 4) + 𝑐 

Question 

4 Evaluate 

∫3ex+5cos(x)−10sec2(x)dx 

3ex+5sinx−10tanx+c 

3ex+cosx−10tanx+c 

3ex+5sinx−10secx+c 

2ex−x−10tanx+c 

Solution 

∫(3𝑒𝑥 + 5𝑐𝑜𝑠(𝑥) − 10 sec2 𝑥)𝑑𝑥 = 3𝑒𝑥 + 5𝑠𝑖𝑛𝑥 − 10𝑡𝑎𝑛𝑥 + 𝑐 

Answer: 3𝑒𝑥 + 5𝑠𝑖𝑛𝑥 − 10𝑡𝑎𝑛𝑥 + 𝑐. 

 

 

 

 



 

 

Question 

5 Evaluate 

∫x2(3−10x3)dx 

1150(3−10x3)5)+c 

110(1−10x2)5)+c 

115(3−20x3)5)+c 

1100(3−2x3)5)+c 

Solution 

∫ 𝑥2(3 − 10𝑥3)𝑑𝑥 = −
1

10

1

3
∫(3 − 10𝑥3)𝑑(3 − 10𝑥3) = −

1

10

1

3

(3 − 10𝑥3)2

2
+ 𝑐

=  −
(3 − 10𝑥3)2

60
+ 𝑐 

Answer:  −
(3−10𝑥3)2

60
+ 𝑐 
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